UNIT 18: VOICE


1.a. Read the following text and underline the appropriate alternative. 

Everybody was downtown celebrating the end of the war. Evelyn could see the rockets that arched into the night and could hear the booming of the little cannon that they used / was used at the football games when the home team won.
There were just a few patients left. Everybody who could walk had fled the hospital as soon as the news was broadcast / they broadcast the news over the radio, but some of them had come back with bottles and after supper the celebration degenerated into destruction – men were breaking windows, tearing posters, and ripping books / windows were being broken, posters torn, and books ripped.

Before she left, Evelyn went to the ward where the bad head and chest wounds were cared for / they cared for the bad head and chest wounds to make sure that everything was under control. Then she changed into her street clothes and hurried out of the building. As she went out of the front door, she saw Arnold leaning against the wall.

“What is it, Arnold?”

“They are discharging me tomorrow. / I’m being discharged tomorrow,” he said.

“That is good news” she said. “Congratulations.”

She looked at her watch, wished him good luck, and hurried down the street. Her car was parked / She had parked her car in the shadow of a tree.

b. When do we prefer to use the passive rather than the active? Circle the right statements.

1. When we want to focus on the action rather than the doer.

2. When we want to make the text more vivid.

3. When we want to distance ourselves from the action.

4. When we want to give prominence to the result of the action or the thing affected.

5. When we give an account of certain events.

6. In scientific texts and the media.

7. When we focus on the doer.

2. Which sentence (b) or (c) follows (a) in a more natural way? Discuss.
1.
a. Three opposition parties called for the immediate resignation of the Minister of Interior.

b. A statement will be made in Parliament tomorrow

c. They will make a statement in Parliament tomorrow.
2.
a. The area was cordoned off by the police early this morning because…

b. …someone had murdered a man outside his house the night before. 

c. …a man had been murdered outside his house the night before.
3.  a.  You are kindly invited to the staff meeting next Friday when…

b. …an expert in the field of information technology will give a talk.

c. …a talk will be given by an expert in the field of information technology.
4 
a. The chemistry teacher was giving a demonstration to the class.

b. He poured the liquid into a test tube and heated it. 

c. The liquid was poured into a test tube and heated by him. 
5   a. The NLD construction company is completely unreliable.

b. This bridge has been being built by them for over two years now.
c. They have been building this bridge for over two years now.

6   a. Immigration is a burning issue within Parliament.

b. The government's immigration policy is to be reviewed by a special parliamentary commission.

c. A special parliamentary commission is to review the government's immigration policy.

7   a. I don’t know his GP’s name. All I know is that…

b. …he has been treated at the local hospital.
c. …people get perfectly treated at the local hospital.

3. Shift the focus in the following text by foregrounding the events, as shown in (1).

      The Standard History of the English language

	1
	In the year 449 German tribes displaced the native Celtic population.
	449 – the native Celtic population was displaced by German tribes

	2
	People preserved most writings of the period in the West Saxon dialect.
	

	3
	Fundamental changes affected Old English grammar and pronunciation during the later Anglo-Saxon period.
	

	4
	During the Middle English period they registered the first signs of a standard English.
	

	5
	The introduction of printing by Caxton in 1476 influenced the development of a standardized writing system.
	

	6
	People brought language under some measure of control by writing the first English dictionaries.
	

	7
	As a result, a standard form of English emerged and people encountered it throughout the British Empire.
	

	8
	By the end of the 18th c., the standard language had become so close to that of the present-day that we can safely describe it as Modern English.
	

	9
	The author is telling just one story here.
	


	CONCLUSION
	
	The category of ……………makes it possible for us to shift the focus in presenting a situation in different contexts. …….. voice is more frequently used and considered the unmarked member of the opposition as it makes prominent the agent which naturally comes first in a sentence. 

…………. voice, on the other hand, focuses on the result of the action or the action itself, leaving the …………suppressed. It is the ………. member of the opposition and is less frequently used. 




LEXICAL VERBS

Two kinds of lexical verbs can occur in passive patterns – transitive and prepositional. Transitive verbs express an action that is transferred by the agent onto the object(s) involved in the event (e.g. to write a poem). Prepositional ones relate to the object via a preposition (e.g. to look at one’s watch).

4.a. Use information from the box to classify the underlined patterns.

	· monotransitive - a verb with one object (V+Od)
· ditransitive - a verb with two objects (V+Oi+Od)

· complex transitive - a verb with one object plus its complement (V+Od+Co as in That music drives me mad) or (V+Od+A as in He put his books on the table, where A is an obligatory adjunct, usually of space or direction).

· prepositional - a verb with prepositional objects in one-, two- or three- object patterns (V+Oprep as in I rely on my friends); (V+Od+Oprep as in Helen blamed the divorce on John); (V+Oi+Oprep as in Helen blamed John for the Divorce). Other verbs that follow the pattern V+Oi+Oprep are thank for, accuse of, rob of, convince of, deprive of, remind of, congratulate on, charge with, sentence to, subject to, confine to, protect from, prevent from, warn of, etc. 
· NB! The prepositional patterns V+Od+Oprep and V+Oi+Oprep are subtypes of the ditransitive category of verb complementation, whereas the pattern V+Oprep is a subtype of monotransitive verb complementation. 


1. Because of the economic crisis, more and more people are applying for jobs. 

2. The noise and smells of the market assaulted my senses.

3. The democrats appointed Barak Obama their candidate for the election.

4. The bridegroom in his attempt to win over his future in-laws bought the bride a new Ferrari as a wedding gift.

5. All the members of the team accused Peter of purposeful negligence.

6. Expecting students to read all the books on the topic is asking a lot of them.
7. Your high achievements on the term test most pleasantly surprised me. 

8. Many students rely on background knowledge for their exams.

b. Describe the above transitive patterns using the following symbols: S, Pr, Oi, Od, Oprep, Co.

5. Some transitive verbs occur in more than one pattern. How do (a) and (b) differ?

1.a. The newly-weds [found] [a beautiful villa] on the island of Corfu.

   b. Simon left the party rather late and to his surprise [found] [(his brand-new car)(missing)].

2.a. We will carefully consider your proposal before we invite the CFO.

   b. I consider you one of the most suitable candidates.

3.a. Yesterday, they appointed a new manager at our company.

   b. The classmates unanimously appointed Peter their representative in the General Assembly of the school.

4.a. Jonathan has been driving this old ramshackle of a car for more than 7 years. 

   b. Your insistence on calling me Mr. Petrovich drives me virtually insane. 

THE PASSIVE VOICE

The passive voice is formed with the auxiliary verb to be and the past participle of the main verb (be + V-ed). A few verbs can form get-passives when used in conversation. The passive voice combines freely with progressive and perfect aspect (correlation) and modal auxiliaries. If the agent is to be mentioned, it is typically introduced with the preposition by. 

6. Correct the errors and explain where they stem from. Mark the correct sentences with OK.

1. What is that noise? - A new office building is built down the road.

2. Students are never being asked to participate in social debates if they don’t want to.

3. For the past few weeks the government has been pressurized into voting against alternative energy sources.

4. The workers had been offered a pay raise as a means of settling the conflict last night.

5. The carriers will have been instructed to return the goods to your clients by Friday.

6. Post gets delivered at 7.30 in the morning on workdays and at 8.30 on weekends.

7. By two o’clock today we will have been examined for six hours.

8. If he were told in advance what clothes to wear at last night’s party, he wouldn’t be stared at.

9. The prime suspects were interrogated by the police, while another robbery was taking place in the vicinity.

10. Elements get usually classified as metals and non-metals. 

7. Complete the gaps with suitable verbs forms following the instructions in brackets.

1. Redundancy notices …are being issued… (issue: Present + Progressive 

Passive) and over half the work force probably …will be sacked... (sack: Future + Passive).
2. Several coal mines already.....................................(close down: Present + Perfect +

Passive) and more ………………………………….(close down: Future + Passive) in the near future.
3. A statement ..............................................(issue: Past + Passive) by the aid agency that 

emergency food supplies……………………(send: Future in the Past + Passive) to the famine-stricken area.

4. No independence ………………………………(declare: Future + Passive) officially   

    until next year.

5.a. Large sums of money …………………………(give: Past + Perfect + Passive) to the    

       refugee fund by various charities.

   b. The refugee fund………………………………( give: Past + Perfect + Passive) large   

       sums of money by various charities.

6. I can’t find my biro. It ………………..(take: Modal + Perfect + Passive) by someone   

    while I was out.
TYPES OF PASSIVE PATTERNS

There are different types of passive constructions in English. According to the prominence given to the respective participants involved three types of passive patterns are recognized: primary (Od-based), secondary (Oi-based), tertiary (Oprep-based). With verbs of reporting there are two types of passive patterns: impersonal and personal. When someone performs something for us, we can use two lexico-syntactic patters: 
to have+ NP + V-en, to get + NP + V-en. 

8.a. In what ways are the sentences in each set related? Which parts are given prominence? 

      1.   a) They handed me the plate.


 b) I was handed the plate.


 c) The plate was handed to me.

       2.   a) He described the situation to me.


 b) The situation was described to me.

       3.   a) We arrived at a decision.


 b) A decision was arrived at.

       4.   a) The committee called on Paula to explain her reasons for the proposed changes.


 b)  Paula was called on to explain her reasons for the proposed changes.

       5.   a) They are building a new bridge here.


  b) A bridge is being built.

b. How is the shift of prominence achieved?
9. Some impersonal passive sentences have personal counterparts. Write the personal counterparts of the following sentences as shown in the example.

Example: 
It is said that the Prime Minister is on the point of resigning. =>
The prime minister is said to be on the point of resigning.
1 It is rumoured that the two celebrities have split.
……………………………......................................................................................

2. It is believed that the Chairman of the Board had absconded with the funds.
…………………………..........................................................................................
3. It is known that smoking causes heart disease.

…………………………………………………………………………………….

4. It has been found that positive thinking improves one’s quality of life.

…………………………………………………………………………………….

5. It was thought that tuberculosis was incurable.

……………………………………………………………………………………..

6. It can be argued that pay rise leads to inflation.

…………………………………………………………………………………….

  7. It has been reported that 12 soldiers were killed in action.
   ………………………………………………………………………………...

    8. It is thought that king Arthur is based on a real 5th –century Celtic chieftain.

      ………………………………………………………………………………….. 

10. When something is done for us by another person, we use the patters to have + N + V-en (formally) and to get + N + N-en (informally). Rewrite the sentences using these patterns.

1. We’ve just bought a new TV-set and are going to call somebody to install it tomorrow.
2. My father hired a gardener to cut the lawn and to plant some flowers.

3. Instead of wearing ready-made clothes some women prefer to pay a tailor to make them to measure.

4. The GP checks my grandmother’s heart once a month.

5. Why hire a photographer to take our photos if we can do it ourselves.

6. My PC is out of order. I need to find somebody to mend it.

7. If the neighbours keep partying all night, I’ll call the police to arrest them.

8. Did you ask the dentist to check your teeth?

	CONCLUSION
	
	Different transitive verbs form different clausal patterns. Most monotransitive and ditransitive verbs give rise to …………… passive structures, where the direct object of the active sentence plays the role of subject in the passive counterpart. We have ……………… passive construction when the indirect object of a ditransitive verb becomes the subject of the passive sentence. Prepositional verbs when used in passive voice result in …………… passive constructions, where the preposition is not separated from the main verb.


11. Translate into Bulgarian.

The Washington, D.C., press corps was stretched thin that day trying to get a handle on the death of Representative Paul L. – so many friends and colleagues to be cornered and questioned, so many places to be found at the same time. 

Soon the home addresses of L’s staff were ferreted our and neighbors were interviewed for clues. No surprise that a sizeable contingent sought out Warren B. or anyone of his staff willing to speak to the media. The best that could be determined was that he was in Washington, probably in his office. The industrialist was known to wander through the offices at odd hours, leaving caustic notes for his employees who violated the rules.

As with other administrative centres of B.’s corporation, a large corner office was kept empty for the company’s dynamic leader, where flowers were changed each day. B. had been there since five in the morning. He knew that L.’s body had been discovered earlier that morning by a member of the Capitol police. According to his information, he was found with a revolver gripped in his right hand. An autopsy was being conducted by the district medical examiner.

ADDITIONAL PRACTICE – UNIT 18
1. Complete the sentences with suitable forms of the verbs in the box.

play
heat
use
cultivate
make
produce
1. Water in a steam locomotive’s boiler ……………………….by a coal fire in the box.

2. The first car to be sold to the public …………………….by German engineer Karl Benz in 1885.

3. Boats and ships ………………………to transport people and goods across rivers, lakes and oceans for thousands of years.

4. Greece is a mountainous country and less than one-third of the land ………………..

5. The earliest-known coins …………………………in the Kingdom of Lydia.

6. The Irish harp ………………………..in Ireland since 1100s.
2. Make sentences using the following combinations:

A. Progressive Aspect + Passive Voice 

1. ………………………..is being recorded………………………………………

2. ……………………….were being tested…………………………………………

3. ……………………….are being removed………………………………………..

4. ………………………..was being operated on …………………………………..

B. Perfect aspect (correlation) + Passive Voice

1. ………………………..has been sent……………………………………………..

2. ………………………..had been warned …………………………………………

3. ………………………..have been encouraged ……………………………………

4. ………………………..has been stolen……………………………………………

C. Modal Auxiliary + Passive Voice

1. ………………………will be repaired……………………………………………

2. ……………………….can be improved…………………………………………..

3. ……………………….must be fined ……………………………………………..

4. ……………………….won’t be forgotten ………………………………………..

3. Use the right forms of the verbs in brackets.

A star begins life as material within a nebula, an enormous cloud of gas and dust. Parts of the cloud 1. …………………..(pull) together under their own gravity.

As the star begins to shine, the leftover dust 2…………………..(blow) away by stellar wind. The major period of a star’s life span 3……………………(call) its main sequence. When its supply of hydrogen 4……………………….(exhaust), the star’s core contracts.

The four planets closest to the Sun – Mercury, Venus, Earth, and Mars – 5……………..(know) as the inner planets. Mercury is the planet closest to the Sun. It 

6………………(mark) with craters and has no real atmosphere.

4. Read through the sentences and do tasks a, b and c. 

a. Which of the following sentences can have a passive counterpart? 

b. Why can’t some of the sentences have passive counterparts?

1.  John thought that she was attractive. 

2. John loved Mary.

3. John hoped to meet her.  

4. John enjoyed seeing her.  

5. They eventually arrived at the expected result. 

6. They eventually arrived at the splendid stadium.

7. We changed buses.  

8. They desired to have the report delivered here.

9.  He stretched his legs. 

10. He cut himself. 

11. She possesses a great talent for poetry.

12. This hall can hold 500 people. 

13. Where did you meet him?  

5. a. What types of passive structures can you identify in the following sentences?

1. They know that he has been a spy.

    a) *That he has been a spy is known by them.

    b) It is known that he has been a spy.

    c) He is known to have been a spy.

b. Form as many passive constructions as you can, using the notes below. Where possible start your passive construction with There….

      1.   report, 30, 000 people, at the concert, yesterday, there.

      2.   gas, was poisonous, assume, cause, the suffocation

3. fault in the equipment, show

4. understand, she, from, the government, had resigned  

5. the disease, eating fish, show, and, between, connection.

6. Provide passive counterparts to the following sentences. 

1. Our postal service used to deliver parcels. Now we have to collect them.

2. The company says that the production figures have fallen short of expectations. 

3. Didn’t anyone tell you that we cannot allow people into the area unless they produce a certificate of inoculation?

4. The radio said last night that a volcano is erupting on the island of Xand.

5. They say he was cleaning his pistol – and carelessness caused his death.

6. We put back the meeting to next Thursday. 

7. Please don’t come to the station with me. I hate people saying goodbye to me through the window of a train.

8. Are you really going to allow me to drive your brand new car? 

9. Evidence shows that Jackson was inside the house at the time of the murder.

10. Many people believe that UFOs exist, never mind what the authorities say.

7. Translate the following text into English.

Ше се отнемат опасни сгради от нехайни частници

Общината иска да бъде намален броят на зданията-паметници на културата

След като само за 10 дни се срути втора къща-паметник на културата, София започна да обмисля спешни мерки за укрепване на рушащите се постройки. Идеята е общините или държавата да ремонтират принудително частни сгради-паметници на културата. Укрепването обаче ще се плаща от собствениците им. При започването на ремонта върху имота ще се учредява ипотека. Ако тя не се плати, сградата ще бъде одържавявана. Подобна възможност е предвидена в закона за паметниците на културата, но досега не е прилагана. По закон, ако гражданите не могат да поемат разходите за аварийни ремонти, поддържане и укрепване на стари сгради, средствата се осигуряват от държавата или общината срещу ипотека на имота. В момента се уточнява юридическата процедура как служителите на кметството да получават достъп, ако собствениците не ги допускат, и как ще става ипотекирането.

Според закона глобата за неизпълнени предписания за укрепване на паметник на културата е от 1000 до 5000 лв. "Санкциите трябва рязко да се завишат", смятат ръководните органи. Не е известно колко пъти до момента са налагани такива глоби и колко от тях са събрани.

От прозорците на сградата на ул."Отец Паисий", където е живял Христо Смирненски, стърчат клони на израсли във вътрешността й дървета. Съседите се надяват къщата да бъде разрушена, тъй като застрахователи отказвали да застраховат жилищата им заради нея. Районът около къщата беше отцепен вчера. Тя ще бъде възстановена, пари ще се търсят от бюджета на общината. 
Voice alternation is a way of presenting an event from different angles. If the agent of the action is important, we use the active voice. If we want to focus on the action or the result rather than on the agent, we use passive VPs. Transitive verbs can occur in the two voice options without major restrictions. Under special circumstances certain intransitive clauses can also have a passive alternative with atypical subjects in the latter.
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